

A Brambles Company



TRANSFER HIRE ADVICE NOTE 424 0736831

Sending Location Account Number: 2700048255

Sending Location Name: Chitwood

Receiving Location Account Number: 0101512834

Receiving Location Name: ISICEBI KIMBERLEY

Reference Number 1: 9746203436

Reference Number 2: [Blank]

Reference Number 3: [Blank]

Sending Location Details: POCKET 319 CHITWOOD LOGISTICS
C/O BRUCE FISHERWAY BRND RD
CHITWOOD DISTRICT

Receiving Location Details: FRF 12796
CABINET STREET
KIMBERLEY 8301

Reference Description: ISICEBI TRADING 1048 (PTY) LTD
REG: 2017/664186/07 VAT: 4880224763

Reference Description: P.O. BOX 10388
BEACONSFIELD 8315

TEL: 053 841 074/8 TEL: 053 927 0964
FAX: 053 927 3091 FAX: 053 841 0209

CHEP Help line: Toll free - 0800 330 334
Mail: zamto@chep.com

Effective Transfer Date: 04 03 20 25

Registration Number / Truck Number: 5BK 288 FS

Driver's Name: TUMILO MAKHUBA

Receipt Date: 05 03 20 25

Checked By Name: ANGUS

Checked Signature: [Signature]

Equipment Code	Quantity	Equipment Description
001	032	4 way chp trucks
		Returned to
		Dispo
		MAR 1720

CHEP never sells or transfers ownership of its Equipment. Unauthorised trading, appropriation, use or disposal of CHEP equipment is strictly prohibited. Report illegal activity - Contact Tip-Offs Anonymous on 0800 003 310 or email chep@tip-offs.com

Name: Sam
 Sign: [Signature]
 Date: 06-03-2025
 Received 32 chp plts

INVOICE

Invoice Number 976923436	SAP Order 110856555
Invoice Date 20.02.2025	PO Number 20.02.2025
Invoice Address 151081 TRADING, ERF 12796 & CABINET STREET, KENNERLEY, 8301, KENNERLEY	

Sap Order Date 20.02.2025	Account Number 197798
Delivery Date 03.03.2025	Plant / Bay 11/02/102/23
Delivery Address ERF 12796 & CABINET STREET 8301, KENNERLEY	

GRV Required NO	Order type SALE Field
Payment Terms 30 days from statement	
Bank : CITIBANK N A SOUTH AFRICA SANDTON 0200079094 / 350005	
Customer VAT Number: 4890224763	

Copy Tax Invoice

DIAGEO

Building 3, Maxwell Park, Magwa Crescent, Waterfall
City, Midrand, 2090
Vat Reg: 4750101802 NLA: RG0000525
Customer Service Telephone: 0800 600 230

Product	Description	QTY	UOM	List Price	Customer Discount	Promotional Discount	Amount excl Vat	Vat	Amount Incl Vat
782658	Bell's Extra Sp1 20cl	144	CAS	3,157.56			454,698.92	68,203.34	522,902.26
694738	Bell's Extra Sp1 375ml	60	CAS	2,825.64			169,538.36	25,430.75	194,969.11
694742	Bell's Extra Sp1 75cl	53	CAS	2,483.13		-7,950.00	123,555.85	18,548.38	142,204.23
694741	Bell's Extra Sp1 1L	6	CAS	3,186.04		-300.00	18,816.25	2,822.44	21,638.69
787584	OutWg Blk Jame 75cl	77	CAS	2,135.70		-2,595.00	161,753.85	24,253.08	186,016.93
787582	CH SpicedOld S 75cl	249	CAS	1,835.59		-8,715.00	448,345.98	67,251.90	515,597.88
752491	JH Red 1L	10	CAS	3,454.02			34,540.22	5,181.03	39,721.25
752466	JH Red 75cl	73	CAS	2,863.66		-6,570.00	202,477.13	30,371.57	232,848.70
7524230	JH Blonde 75cl	13	CAS	3,589.48		-8,710.00	37,953.23	5,692.98	43,646.21
789358	Gordons Dry 6in 75cl	439	CAS	1,737.30		-38,632.00	762,674.39	114,401.16	877,075.55
789359	Gordons Dry 6in 75cl	219	CAS	1,737.30			380,468.55	57,070.20	437,538.83
789359	Gordons Dry 6in 75cl	707	CAS	1,737.30			1,228,270.61	184,740.59	1,412,511.20
789359	Gordons Dry 6in 75cl	12X01	CAS	1,365,000					

OUT OF STOCK

ISICEBI TRADING 1048 (PTY) LTD
 REG: 2017/664186/07 VAT: 4880224763
 P.O. BOX 10388
 BEACONSFIELD 8315
 TEL: 053 841 0747/8 TEL: 053 927 0964
 FAX: 053 927 3091 FAX: 053 841 0209

SEAL: 0089221-0089230

ANY RETURNS MUST BE NOTED ON THIS DOCUMENT AND ITS COPY

Sales Order Notes

Receipt From Diageo	Name	Signature	Date
Receipt From Customer	Name RAGOS	Signature <i>[Signature]</i>	Date 05/03/25

Taxable Value Rand	4,023,183.34
Vat Rate	15%
Tax Amount Rand	603,477.50
Total Due	4,626,660.84
ESD	0.00
Currency	ZAR



INVOICE

Invoice Number 976923436	SAP Order 110856555
Invoice Date 20.02.2025	PO Number 20.02.2025
Invoice Address 151081 TRADING, ERF 12796 & CABINET STREET, KENNERLEY, 8301, KENNERLEY	

Sap Order Date 20.02.2025	Account Number 197798
Delivery Date 03.03.2025	Plant / Bay 11/02/01/02/23
Delivery Address ERF 12796 & CABINET STREET 8301, KENNERLEY	

GRV Required NO	Order type SALE Field
Payment Terms 30 days from statement	
Bank : CITIBANK N A SOUTH AFRICA SANDTON 0200079094 / 350005	
Customer VAT Number: 4890224763	

Copy Tax Invoice

DIAGEO

Building 3, Maxwell Park, Magwa Crescent, Waterfall
City, Midrand, 2090
Vat Reg: 4750101802 NLA: RG0000525
Customer Service Telephone: 0800 600 230

Product	Description	QTY	UOM	List Price	Customer Discount	Promotional Discount	Amount excl Vat	Vat	Amount Incl Vat
782658	Bell's Extra Sp1 20cl	144	CAS	3,157.56			454,698.92	68,203.34	522,902.26
694738	Bell's Extra Sp1 375ml	60	CAS	2,825.64			169,538.36	25,430.75	194,969.11
694742	Bell's Extra Sp1 75cl	53	CAS	2,483.13		-7,950.00	123,555.85	18,548.38	142,204.23
694741	Bell's Extra Sp1 1L	6	CAS	3,186.04		-300.00	18,816.25	2,822.44	21,638.69
787584	Outwa Blk Jame 75cl	77	CAS	2,135.70		-2,595.00	161,753.85	24,253.08	186,016.93
787582	OW Spiced Old S 75cl	249	CAS	1,835.59		-8,715.00	448,345.98	67,251.90	515,597.88
752491	JH Red 1L	10	CAS	3,454.02			34,540.22	5,181.03	39,721.25
752466	JH Red 75cl	73	CAS	2,863.66		-6,570.00	202,477.13	30,371.57	232,848.70
7524230	JH Blonde 75cl	13	CAS	3,589.48		-8,710.00	37,953.23	5,692.98	43,646.21
789358	Gordons Dry 6in 75cl	439	CAS	1,737.30		-38,632.00	762,674.39	114,401.16	877,075.55
789359	Gordons Dry 6in 75cl	219	CAS	1,737.30			380,468.55	57,070.20	437,538.83
789359	Gordons Dry 6in 75cl	707	CAS	1,737.30			1,228,270.61	184,740.59	1,412,511.20
789359	Gordons Dry 6in 75cl	12X01	CAS	1,365,000					

OUT OF STOCK

ISICEBI TRADING 1048 (PTY) LTD
 REG: 2017/664186/07 VAT: 4880224763
 P.O. BOX 10388
 BEACONSFIELD 8315
 TEL: 053 841 0747/8 TEL: 053 927 0964
 FAX: 053 927 3091 FAX: 053 841 0209

SEAL: 0089221-0089230

ANY RETURNS MUST BE NOTED ON THIS DOCUMENT AND ITS COPY

Sales Order Notes

Receipt From Diageo	Name	Signature	Date
Receipt From Customer	Name RAGOS	Signature <i>[Signature]</i>	Date 05/03/25

Taxable Value Rand	4,023,183.34
Vat Rate	15%
Tax Amount Rand	603,477.50
Total Due	4,626,660.84
ESD	0.00
Currency	ZAR

